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I ' 1 c . w  iiiite t l i ~ i t  in tlie Filial Exani at hand, you will have 2 hours to solve tlie problenis wortli a niaxi 

ri i i i i i i  o l  70 poiiits. I'leasc consider the following general advice: 

I llse tlie theoretical tools and terminology you have iearned in class and froni the textbook. 

2 .  Make surr there is a clear sttucture in your argument. (Use some time to sort your ideas before you 
stan ivriting tlic version you want to submit, esp. if you answer B). 

3 .  Use tlie time you have! If you are ready niuch earlier than we planned you should ask yourself 
\vlicther you forgot something. 

4. Kernernber: people have to be able to decipher what you w i t e  

5 .  Lcave a inargin for our comments, so we can give you a more detailed feed-back than just tlie 
riurnber of points. 

6 Eacli rnain question has sub-questions. Answer each one explicitly 

['lease so lve  eitlier p r o b l e m ( s )  A B ( m a r i m u m  70 po in t s ) :  

k'ou nre \\clu)iiie to usc a dictionary and a calculator. 

A) I ' lease a r i s w e r  o n l y  2 o u t  o f  t h e  f o l l o w i n g  9 q u e s t i o n s :  

I .  Scrcciiing (inax. 10 points) 

cissunic tliat you as the pcrsonnel managcr are on the lookout for new employees for thc ovcrscas produc- 
i i i ~ r i  01' yriiir firm. The pool of workers available is characterized by tlie tablc bclow iiidicatiiig tliat tlic 
population consists of different shares of different types of workers (different in terms of productivity). 
!\ssurne hnher  (hat each worker has to be paid a straight salary of 24,000 € a ycar. 

a )  1:splain the basic purpose of  Screening in the context of recruiting in detail and point otit possihlc 
screcniiig instrunients. 

b) Calculate tlic maxiinuni amount you would be willing to spend on screening (if at all) pcr kippli- 
c~uit i i i  tlie given scciiario. 

Share of worker-type in 
I 1 0.1 1 0.2 1 0 1  1 0.2 

population 

2. Fluctuation of Employees (max. 10 points) 

-- 

Workrr- Qpe 
I 

Assunie [hat the product your conipany is selling expcrieiices a severe niarket decline In order I« cut 1; 
bor cosis iiiaiiagemeiit Iias decided oii a do~viisi~iiig prolcci Yoii as tlie pcrsoriiicl iii:uiiigcr arc rcspoiisib 
for idriitifLing tlic least productive ~vorkers. i\licr aiial\iiiig tlic availablc data. !.[>LI lind tliai tliesc \\oll 
ers happcn to be tlie oldest oiies Yuiir plaii is I ~ I  ijllci tlic\c ciii~~lovecs n bu!oiii btlicnic tl i i i i  iiidiiccs tlici 

C 

Present ifnlur ofrlr- 1 Prrsrnt vcrlue of Present vcrlue 01' 
Ige / r i e~ r~ rdprod iuc t i i ~ i~  in f 1 wnges in € nlterncriver in € 1 

A D E 

- . - - - - - 

a) Describe anaiytically and in your own words what determines a firm's buyout offer and when suc 
an offer will be accepted by empIoyees? What would happen if the buyout scheme was offered I 

ail employees? 
b) In addition, apply these analytica1 concepts to the given case by calculating how the buyout offe' 

for each specific age group would look like and show what would happen accordingly. 

B 

3. Reengineering (max. 10 points) 

Explain the concepts of Job Enrichiiieiit, Job Eiilargcniciii and Job Rotation and usc suitable e\ariiples to 
strengthen your argument Highlight advantagcs and disad~aritages of each concept fioni botli. tlic eiii- 
ployee's and tlie firm's perspective. 

4. Probationary Periods (max. 10 points) 

Jacky, tlie personnel manager of a medium-sized Gcrnian firm, can identify different quality-levels ( 

workers by "screening-on-the-job" and Setting a prohation'aq pcriod of onc year During tliis pcriod Jach 
and her colleagues can judge workers' individual perfonnance and decide whom to hire on a long-[er 
contract. There are two different types of workrrs, typc A with a iiiarket wage of 3 1,000 € a year arid t)7 
B with 30,000 € a year. Jacky's firm only waiits to attract A-type workers. B-type-workers are to bc di 
couraged froni applying Assume funhcr [hat Sacky's aiid her colleagues' assessment is not pcrlkct aiid L 
type workers, who slipped tlirough the initial recmitiiig process. will only be revealed with n prob;ibili 
of 70 perceni during the probationary pcriod. Workers oii long-tenii contracts are eniployed tbr 2idditiori 
15 years. 

Whieh probationary and post-probatioiia~ wages should Jacky's firm offer to inducc desirnblc scl 
selectloli? Explaiii your catciilalioiis aiid rcs~ills IHow wouid you Iiavc to ad~ust  tlic \ragt sprcad 11' t l  
probability of revcaling typc L3 workers duriiig thc probationary period would increase? 

In Hunian Kesourcc Maii:igciiiciit iiiosi tlcc.iioii~ Lire iiitcractive. Explain what is nieant by an agency rel; 
tionship. Giveii tlie ccoiioiiiic ;issiiiii~~iioii~ oii Ii i i i i i ; i i i  I~cliiivior. Iiighlight thc fundamental probleni unde 
lyiiig this relationship and explaiii tlic I~cli:ivior;il risk(s) tliat iiiight result from this problem. In the cor 
text of Human Resource Maiiagciiiciit. Iiii\\, ciiii ilicsc rishs bc ovcrcome in reality? 

Aberage anniiül output of 1 0 (-150,000 I 50.000 I 200.000 I 5 0  OUO 1 125.000 1 
respective \rorLer-type in E 



6 .  lnvesting in Human Capital (rnax. 10 points) 

On-the-job training is a way of  investing in a ruorker's human capital. The personnel director of General 
Woods Inc. is facing the decision o f  whether to have Frank: a 59-year-old senior worker without any out- 
side options, participate in the next training prograrn. The training prograrn will take one year and incur 
costs of 600 f for the firm Thereafter, Frank's productivity will risc by 200 f per year over his remaining 
~ ' o r k  life 

a )  I'rovide aii arialytical dcscriptioii of nliat detenniiics such a Iiuiiian capital investiiient dccision 
b )  tlss~iiiiing a rctirciiicnt agc of 6 5  aiid an iiitcrcst rate of 4% pa . ,  calc~ilate rulietlier the investinciit 

is worthwhilc for the firm 
C )  T'lic trainiiig, wliich General Woods Inc is contemplating about. will focus on improving general 

skills. What niiglit happen aRer Fraiik Iias fiiiislied thc training? How can tliis threat be mitigated? 

7. Recnginecring: Iriccritivc Cornpatihility aiid Eflicirncy (rnax. 10 points) 

Explaiii tlie concept of Reengineering. Subsequently. describe the notions of 'collective efficiency' and 
'iiicciitive coiiipatibility'. arid tlieir infl~iciicc oii tlic succcss of rcciigiiiccring projccts. For cxplaiiiiiig tliis. 
iisc ~ O L K  OWII words as well as arialyiical esprcssioiis Explaiii wliat can be doiie to cstablish an inccntive 
conipatible situation. You are welcome to use an example ofyour own clioice. 

8. Motivation and Cornpensation Schernes (rnaa. 10 points) 

Explain the principle of cost-utility-arbitrage witli respect to designing compensation schemes. Subse- 
quently, describe the concept of a Cafeteria Plan and name advantages as well as disadvantages o f  this 
kind of compensation scheme. What possible categories o f  rewards could Cafeteria Plans include? 

9. Recruiting: Setting Hiring Standards (rnaa. 10 points) 

I Traininp costs durinp the first vear i 250 € I 600€  1 

Teddy-Bear Inc. is planning to expand thcir toy production. Therefore, the company wants to hire addi- 
tional production workers. Teddy-Bear Inc. has the option of either relying on skilled workers or hiring 
part time workers most ofwhich are students. The following information is available: 

I Initial Seorcli Costs 1 350P / 0 € 1 

Salary per yeor 

€ Volue o f  woduction  er veor 

I3y ~isiiig ;i grapliiciil illustratioii (figiirc) cxpl;iiii i i i  dctiiil Iiow iiisii~iiiioii;~l li:iiiicworks iiifl~iciicc corpo- 
rate govcrnance Discuss how labor contracts are stnict~ired in Germaiiy IIlaboratc also on eniployee pnr- 
ticipation and its effccts oii ttie corporarc goveniancc i i i  Cicniien liriiis ;ititl <lisciiss how tlic issue is Iii~ii- 
dled in at least onc otlicr country. 

Skilled Workers 

28,000 € 

120.000 € 

1 Average durotion ojeniployment ( 5 years 

Make sure that !ou usc the tlieoretical concepts and tcrminology introduccd diiriiig thc coursel 

Pari Time Workers 

24,000 € 

95.000 € 

3 years J 

Good Luck! 

a) Name and explain the decisive criterion which slioiild be used by Teddy-Bear Inc to select be- 
tween these different candidates for tlie vacant positions. According to this criterion, which candi- 
dates should be hired? Show your calculatioiis arid explain the hiring decision. 

b) The next decision Teddy Bear Iiic. will be facing is how many additional workers they should hire. 
Describe the principlc. which sliould guide tlicir decision i i i  tliis regard. 


